I'pip install openai

Collecting openai
Downloading openai-1.42.0-py3-none-any.whl.metadata (22 kB)
Requirement already satisfied: anyio<5,>=3.5.0 in /usr/local/lib/python3.10/dist-
packages (from openai) (3.7.1)
Requirement already satisfied: distro<2,>=1.7.0 in /usr/lib/python3/dist-packages
(from openai) (1.7.90)
Collecting httpx<1,>=0.23.0 (from openai)
Downloading httpx-0.27.0-py3-none-any.whl.metadata (7.2 kB)
Collecting jiter<1,>=0.4.0 (from openai)
Downloading jiter-0.5.0-cp310-cp310-manylinux_2_17 x86_64.manylinux2014_x86_64.
whl.metadata (3.6 kB)
Requirement already satisfied: pydantic<3,>=1.9.0 in /usr/local/lib/python3.10/di
st-packages (from openai) (2.8.2)
Requirement already satisfied: sniffio in /usr/local/lib/python3.10/dist-packages
(from openai) (1.3.1)
Requirement already satisfied: tqdm>4 in /usr/local/lib/python3.10/dist-packages
(from openai) (4.66.5)
Requirement already satisfied: typing-extensions<5,>=4.11 in /usr/local/lib/pytho
n3.10/dist-packages (from openai) (4.12.2)
Requirement already satisfied: idna>=2.8 in /usr/local/lib/python3.10/dist-packag
es (from anyio<5,>=3.5.0->openai) (3.7)
Requirement already satisfied: exceptiongroup in /usr/local/lib/python3.10/dist-p
ackages (from anyio<5,>=3.5.0->openai) (1.2.2)
Requirement already satisfied: certifi in /usr/local/lib/python3.10/dist-packages
(from httpx<1,>=0.23.0->0penai) (2024.7.4)
Collecting httpcore==1.* (from httpx<1l,>=0.23.0->0penai)
Downloading httpcore-1.0.5-py3-none-any.whl.metadata (20 kB)
Collecting h11<@.15,>=0.13 (from httpcore==1.*->httpx<1,>=0.23.0->0penai)
Downloading h11-0.14.0-py3-none-any.whl.metadata (8.2 kB)
Requirement already satisfied: annotated-types>»=0.4.0 in /usr/local/lib/python3.1
0/dist-packages (from pydantic<3,>=1.9.0->openai) (0.7.0)
Requirement already satisfied: pydantic-core==2.20.1 in /usr/local/lib/python3.1
0/dist-packages (from pydantic<3,>=1.9.0->openai) (2.20.1)
Downloading openai-1.42.0-py3-none-any.whl (362 kB)
362.9/362.9 kB 6.4 MB/s eta
Downloading httpx-0.27.0-py3-none-any.whl (75 kB)
75.6/75.6 kB 3.9 MB/s eta
Downloading httpcore-1.0.5-py3-none-any.whl (77 kB)
77.9/77.9 kB 4.0 MB/s eta
Downloading jiter-0.5.0-cp310-cp310-manylinux_2_ 17 x86_64.manylinux2014 x86_64.wh
1 (318 kB)

318.9/318.9 kB 12.4 MB/s eta
Downloading h11-0.14.0-py3-none-any.whl (58 kB)

58.3/58.3 kB 2.3 MB/s eta

Installing collected packages: jiter, hll, httpcore, httpx, openai

Successfully installed h11-0.14.0 httpcore-1.0.5 httpx-0.27.0 jiter-0.5.0 openai-
1.42.0

import os
from openai import OpenAl

def init_api():
with open("chatgpt.env") as env:
for line in env:
key, value = line.strip().split("=")
os.environ[key] = value



init_api()

os.environ.get("API_KEY"))

OpenAI(api_key

client

print(client)

<openai.OpenAI object at ©x7878c879fdeo>

model = "gpt-4"

# First prompt to hashtags into a Python List
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client.chat.completions.create(

model,
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response.choices[0].message.content

print(answer)
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model
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"role": "user",
"content":
"Jlgst AASE0 XleE OtI2UA, =2 HS0l 22201 "
"y 2 ofidtetdl ME RS0
"1 MSEE0l SHH A2 HE
"0 22
"0l MSEE0
"2, ¢

%

Ct
;E@’

0

c
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"content":
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"content":
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response = client.chat.completions.create(
model=model,
messages=messages,



max_tokens=100,
temperature=0,

)
print(response.choices[0].message.content)
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